Drift velocity [cnm/usec]
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Drift velocity vs E/p

Gas: CO, 20%, Ar 80%, T=300 K, p=1 atm
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lon mobility vs E/p

Gas: CO, 20%, Ar 80%, T=300 K, p=1 atm
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Diffusion* Sgrt(p) [sgrt(Torr.cm)]
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Diffusion coefficients vs E/p

Gas: CO, 20%, Ar 80%, T=300 K, p=1 atm
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Townsend and attachment coeff. vs E/p

Gas: CO, 20%, Ar 80%, T=300 K, p=1 atm
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y-AXis [cm]

Electron drift lines from a track

Cell: TEC

Particle: T, Ekin=2 GeV

Gas: CO, 20%, Ar 80%, T=300 K, p=1 atm Isochrone interval: 0.05 [usec]
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Plotted at 15.23.15 on 26/11/99 with Garfield version 6.30.
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Gas: CO, 20%, Ar 80%, T=300 K, p=1 atm
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Drift time

Cell: TEC
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y-AXis [cm]
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Electron drift linesfromawire

Cell: TEC

Gas: CO, 20%, Ar 80
T

%, T=300 K, p=1 atm

Isochrone interval: 0.05 [usec]
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